EUROBANK ERGASIAS S.A. [EUROB]

| | Reason for | | | | | Details of the pe | erson in senior managerial pos | tion | Person conducting the | Average unit | | |
|----------|------------|--------------|-----|------------|--------------------|------------------------|--------------------------------|------------------|-----------------------|--------------|--------|------------|
| Trades | submitting | Date | B/S | Value | Market | Name | Fathers Name | Position | transaction | value | Volume | Value (€) |
| Count: 1 | В | Dec 31, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 24.182 | 22,013.87 |
| Count: 1 | В | Dec 31, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 24.182 | 22,037.61 |
| Count: 1 | В | Dec 31, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.92 | 51.758 | 47,406.73 |
| Count: 1 | В | Dec 31, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.92 | 69.569 | 64,003.48 |
| Count: 1 | В | Dec 31, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.99 | 114.00 | 10,487.20 |
| Count: 1 | В | Dec 31, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 92.2 | 80.00 | 7,376.00 |
| Count: 1 | В | Dec 30, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 3.200 | 2,901.30 |
| Count: 1 | В | Dec 30, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 35.305 | 32,168.87 |
| Count: 1 | В | Dec 30, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 35.305 | 32,059.20 |
| Count: 1 | В | Dec 30, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.67 | 32.00 | 2,933.30 |
| Count: 1 | В | Dec 27, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 32.691 | 29,593.14 |
| Count: 1 | В | Dec 27, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 32.691 | 29,551.94 |
| Count: 2 | В | Dec 23, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 122.26 | 108,015.15 |
| Count: 1 | В | Dec 23, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.34 | 692.00 | 61,823.4 |
| Count: 1 | В | Dec 23, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 49.75 | 43,944.5 |

| Count: 1 | В | Dec 20, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.39 | 1.74 | 151,791.7 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|--------|------------|
| Count: 2 | В | Dec 20, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 179.55 | 156,346.73 |
| Count: 1 | В | Dec 20, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.11 | 9.13 | 795,198.1 |
| Count: 2 | В | Dec 20, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 433.27 | 376,691.44 |
| Count: 1 | В | Dec 19, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.48 | 1.60 | 139,971.5 |
| Count: 2 | В | Dec 19, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 198.97 | 173,489.51 |
| Count: 1 | В | Dec 19, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 88.46 | 1.50 | 132,695.6 |
| Count: 2 | В | Dec 19, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 132.81 | 115,904.16 |
| Count: 1 | В | Dec 18, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.66 | 5.94 | 520,455.5 |
| Count: 2 | В | Dec 18, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 83.51 | 72,920.56 |
| Count: 1 | В | Dec 18, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 88.61 | 6.04 | 534,834.2 |
| Count: 2 | В | Dec 18, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 73.61 | 64,322.50 |
| Count: 1 | В | Dec 17, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 86.51 | 1.60 | 138,765.6 |
| Count: 2 | В | Dec 17, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 127.85 | 110,473.39 |
| Count: 1 | В | Dec 17, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.31 | 1.60 | 140,052.8 |
| Count: 1 | В | Dec 17, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 75.74 | 65,577.7 |
| | | | | | | | | | | | | |

| Count: 1 | В | Dec 16, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.38 | 1.59 | 142,378.4 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|--------|------------|
| Count: 1 | В | Dec 16, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 42.05 | 37,086.99 |
| Count: 1 | В | Dec 16, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.27 | 1.59 | 142,205.41 |
| Count: 1 | В | Dec 16, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 42.05 | 37,157.88 |
| Count: 1 | В | Dec 13, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.58 | 1.92 | 176,111.4 |
| Count: 2 | В | Dec 13, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 94.79 | 86,209.70 |
| Count: 1 | В | Dec 13, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 92.55 | 2.32 | 214,444.3 |
| Count: 1 | В | Dec 13, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 55.39 | 50,401.38 |
| Count: 1 | В | Dec 12, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.30 | 4.14 | 369,527.4 |
| Count: 2 | В | Dec 12, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 20.15 | 18,083.11 |
| Count: 1 | В | Dec 12, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 90.20 | 4.20 | 378.76 |
| Count: 2 | В | Dec 12, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 14.05 | 12,645.86 |
| Count: 1 | В | Dec 11, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.06 | 342.00 | 30,458.8 |
| Count: 1 | В | Dec 11, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 8.87 | 38.35 | 340,040.7 |
| Count: 1 | В | Dec 11, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.96 | 252.00 | 22,670.4 |
| Count: 2 | В | Dec 11, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 62.75 | 55,469.57 |
| | | | | | | | | | | | | |

| Count: 1 | В | Dec 10, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 86.35 | 200.00 | 17.27 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|--------|-----------|
| Count: 1 | В | Dec 10, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 25.65 | 22,161.16 |
| Count: 1 | В | Dec 10, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.25 | 200.00 | 17.45 |
| Count: 2 | В | Dec 10, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 33.67 | 29,196.01 |
| Count: 1 | В | Dec 9, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 20.36 | 17,478.92 |
| Count: 1 | В | Dec 9, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 20.36 | 17,486.57 |
| Count: 1 | В | Dec 6, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 88.70 | 300.00 | 26.61 |
| Count: 2 | В | Dec 6, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.89 | 74.45 | 65,923.91 |
| Count: 1 | В | Dec 6, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.33 | 500.00 | 44.67 |
| Count: 2 | В | Dec 6, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 39.45 | 35,322.68 |
| Count: 1 | В | Dec 5, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.20 | 1.25 | 114.00 |
| Count: 2 | В | Dec 5, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 9.63 | 8,715.72 |
| Count: 1 | В | Dec 5, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 92.18 | 1.25 | 115.23 |
| Count: 2 | В | Dec 5, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 9.63 | 8,742.53 |
| Count: 2 | В | Dec 4, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 13.16 | 12,042.03 |
| Count: 1 | В | Dec 4, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.50 | 100.00 | 9.15 |
| | | | | | | | | | | | | |

| Count: 1 | В | Dec 4, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | 0.91 | 33.95 | 30,980.86 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|------------|------------|
| Count: 1 | В | Dec 4, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 3.16 | 2,893.36 |
| Count: 1 | В | Dec 3, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.40 | 51.00 | 4,559.4 |
| Count: 1 | В | Dec 3, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 6.80 | 6,154.21 |
| Count: 2 | В | Dec 3, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 33.95 | 30,492.46 |
| Count: 1 | В | Dec 2, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.96 | 33.95 | 32,452.38 |
| Count: 2 | В | Dec 2, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.94 | 37.79 | 35,414.84 |
| Count: 2 | В | Dec 2, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 11.857 | 10,191.48 |
| Count: 2 | В | Nov 29, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 37,936.00 | 36,034.47 |
| Count: 1 | В | Nov 29, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 95.88 | 160.00 | 15,340.00 |
| Count: 2 | В | Nov 29, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 30,620.00 | 29,144.28 |
| Count: 2 | В | Nov 28, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.93 | 20,109.00 | 18,622.39 |
| Count: 1 | В | Nov 28, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 93.20 | 13.00 | 1,211.60 |
| Count: 2 | В | Nov 28, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.93 | 46,869.00 | 43,558.90 |
| Count: 1 | В | Nov 27, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 93.90 | 3.00 | 281.70 |
| Count: 2 | В | Nov 27, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 147,455.00 | 139,729.29 |

| Count: 1 | В | Nov 27, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 93.41 | 56.00 | 5,231.10 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|------------|------------|
| Count: 2 | В | Nov 27, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 105,642.00 | 100,093.32 |
| Count: 2 | В | Nov 26, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 205,839.00 | 196,111.40 |
| Count: 1 | В | Nov 26, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 94.98 | 269.00 | 25,549.90 |
| Count: 2 | В | Nov 26, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 178,939.00 | 170,644.76 |
| Count: 1 | В | Nov 26, 2019 | S | Share | SECURITIES MARKET | KALANTONIS THEODOROS | KALANTONIS ANDREAS | Executive Member | Associated Company | 0.95 | 478,460.00 | 455,410.30 |
| Count: 2 | В | Nov 25, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.96 | 247,305.00 | 237,175.81 |
| Count: 1 | В | Nov 25, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 97.00 | 20.00 | 1,940.00 |
| Count: 1 | В | Nov 25, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.96 | 174,538.00 | 167,428.71 |
| Count: 2 | В | Nov 22, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 242,110.00 | 230,693.36 |
| Count: 1 | В | Nov 22, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 95.35 | 135.00 | 12,872.00 |
| Count: 2 | В | Nov 22, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 228,610.00 | 217,934.48 |
| Count: 2 | В | Nov 21, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 120,782.00 | 114,790.16 |
| Count: 1 | В | Nov 21, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 95.07 | 158.00 | 15,020.40 |
| Count: 2 | В | Nov 21, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 104,982.00 | 99,732.44 |
| Count: 1 | В | Nov 20, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 97.10 | 10.00 | 971.00 |

| Count: 2 | В | Nov 20, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.97 | 300,417.00 | 292,010.81 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|--------------|------------|
| Count: 1 | В | Nov 20, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 96.78 | 361.00 | 34,938.80 |
| Count: 1 | В | Nov 20, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | 0.99 | 49,803.00 | 49,055.96 |
| Count: 2 | В | Nov 20, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.97 | 225,732.00 | 220,007.02 |
| Count: 1 | В | Nov 19, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 98.41 | 40.00 | 3,936.40 |
| Count: 2 | В | Nov 19, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.98 | 255,583.00 | 249,820.81 |
| Count: 1 | В | Nov 19, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 98.80 | 5.00 | 494.00 |
| Count: 2 | В | Nov 19, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.98 | 267,398.00 | 261,517.50 |
| Count: 1 | В | Nov 18, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | 0.96 | 49,803.00 | 47,561.87 |
| Count: 3 | В | Nov 18, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.97 | 595,738.00 | 579,751.49 |
| Count: 1 | В | Nov 18, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 98.35 | 275.00 | 27,045.70 |
| Count: 1 | В | Nov 18, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.97 | 376,942.00 | 367,216.81 |
| Count: 2 | В | Nov 15, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.95 | 166,398.00 | 158,630.82 |
| Count: 2 | В | Nov 15, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.94 | 1,025,706.00 | 966,748.61 |
| Count: 1 | В | Nov 14, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 93.94 | 319 | 29,965.40 |
| Count: 2 | В | Nov 14, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.94 | 456,429 | 426,893.38 |

| Count: 1 | В | Nov 14, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 96.20 | 100 | 9,620.00 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|---------|------------|
| Count: 2 | В | Nov 14, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.94 | 399,903 | 373,952.20 |
| Count: 2 | В | Nov 13, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 117,326 | 105,429.56 |
| Count: 1 | В | Nov 13, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.77 | 15 | 1,346.50 |
| Count: 2 | В | Nov 13, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 365,628 | 328,256.41 |
| Count: 1 | В | Nov 12, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 90.04 | 638 | 57,446.90 |
| Count: 2 | В | Nov 12, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.89 | 191,604 | 171,371.76 |
| Count: 2 | В | Nov 12, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.90 | 340,996 | 305,686.79 |
| Count: 1 | В | Nov 11, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.13 | 675 | 58,812.30 |
| Count: 2 | В | Nov 11, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 37,787 | 32,916.86 |
| Count: 2 | В | Nov 11, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 260,886 | 227,044.51 |
| Count: 1 | В | Nov 8, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 86.20 | 111 | 9,567.70 |
| Count: 2 | В | Nov 8, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 83,728 | 73,580.86 |
| Count: 2 | В | Nov 8, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 193,563 | 170,261.62 |
| Count: 1 | В | Nov 7, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.52 | 369 | 32,296.00 |
| Count: 2 | В | Nov 7, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 159,014 | 138,964.06 |

| Count: 1 | В | Nov 7, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 129,014 | 112,897.97 |
|----------|---|-------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|---------|------------|
| Count: 1 | В | Nov 6, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 85.64 | 128 | 10,962.40 |
| Count: 2 | В | Nov 6, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 213,939 | 183,064.48 |
| Count: 1 | В | Nov 6, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 84.96 | 83 | 7,051.50 |
| Count: 3 | В | Nov 6, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 474,060 | 409,409.00 |
| Count: 1 | В | Nov 5, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 88.42 | 33 | 2,917.70 |
| Count: 1 | В | Nov 5, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 78,035 | 68,533.39 |
| Count: 2 | В | Nov 5, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 103,413 | 90,931.07 |
| Count: 1 | В | Nov 4, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.10 | 32 | 2,915.20 |
| Count: 2 | В | Nov 4, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 54,980 | 49,982.69 |
| Count: 1 | В | Nov 4, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.20 | 23 | 2,097.60 |
| Count: 2 | В | Nov 4, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 45,880 | 41,722.95 |
| Count: 1 | В | Nov 1, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 90.26 | 8 | 722.10 |
| Count: 1 | В | Nov 1, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 75405 | 68,371.46 |
| Count: 1 | В | Nov 1, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.1 | 10 | 911.00 |
| Count: 2 | В | Nov 1, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.91 | 76205 | 69,073.17 |
| | | | | | | | | | 1 | | | |

| Count: 2 | В | Oct 31, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.9 | 63649 | 57,185.52 |
|----------|---|--------------|---|------------|--------------------|------------------------|-----------------------|---------------------|--------------------|-------|--------|------------|
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 31, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 91.5 | 12 | 1,098.00 |
| | | | | | | | | | | | | |
| Count: 2 | В | Oct 31, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.9 | 41649 | 37,449.92 |
| Count: 1 | В | Oct 30, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 89.8 | 9 | 808.20 |
| Count: 2 | В | Oct 30, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.9 | 187749 | 168,062.00 |
| | | | | | | | | | | 0.0 | 107740 | 100,002.00 |
| Count: 1 | В | Oct 30, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.86 | 467 | 41,965.90 |
| Count: 2 | В | Oct 30, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count. 2 | В | Oct 30, 2019 | 5 | Share | SECURITIES MARKET | BASILEIOU KUNSTANTINOS | BASILEIOU BASILEIOS | Executive internder | Associated Company | 0.9 | 141949 | 127,353.76 |
| Count: 2 | В | Oct 23, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.88 | 13511 | 11,947.53 |
| Count: 1 | В | Oct 23, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 88.9 | 40 | 3,556.00 |
| Count: 2 | В | Oct 23, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.89 | 19011 | 16,837.90 |
| | | | | | | | | | | | | , |
| Count: 2 | В | Oct 22, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.89 | 168346 | 150,534.64 |
| | | 0.100.0040 | | 2 | DEDIVATIVES MADVET | BASILEIOU KONSTANTINOS | DAGII FIGUADAGII FIGO | | | | | |
| Count: 1 | В | Oct 22, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.55 | 377 | 33,760.70 |
| Count: 1 | В | Oct 21, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.88 | 39282 | 34,573.60 |
| Count: 1 | В | Oct 21, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 89 | 15 | 1,335.00 |
| Count: 1 | В | Oct 21, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.89 | 32655 | 28,989.83 |
| Count: 1 | В | Oct 18, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.87 | 10000 | 8,710.00 |
| Count: 1 | В | Oct 17, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | 1 | | | | | | 87.5 | 570 | 49.875.00 |

| | | 1 | 1 | | | | ı | | ı | JJ | 5.5 | -10,010.00 |
|-----------|----|---------------------------|---|------------------|---------------------------------------|--|---------------------|------------------|--|-------|--------|-------------------------|
| | | | | | | | | | | | | |
| unt: 2 | В | Oct 17, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.87 | 201862 | 176,293.47 |
| | | | | | | | | | | | | |
| unt: 1 B | В | Oct 17, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 87.6 | 105 | 9,197.50 |
| | | | | | | | | | | | | |
| ount: 2 E | В | Oct 17, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.88 | 241862 | 211,686.05 |
| | | | | | | | | | | | | |
| ount: 2 B | D. | Oct 16, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Comment | | | |
| ount. 2 | В | Oct 16, 2019 | В | Snare | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.88 | 131518 | 115,365.26 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| unt: 2 | В | Oct 16, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.88 | 115532 | 101,358.10 |
| | | | | | | | | | | 0.00 | 110002 | 101,336.10 |
| | | | | | | | | | | | | |
| ount: 1 B | В | Oct 15, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.89 | 17027 | 15,104.90 |
| | | | | | | | | | | | | |
| ount: 1 E | B | Oct 15, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| on. I | | 000 10, 2010 | | Citalo | SESSITIES III III II | ENGLESION NOTION AND ADDRESS OF THE PROPERTY O | Brokelioo Brokelioo | Exodute Monibol | 7 obootated Company | | | |
| | | | | | | | | | | 0.88 | 49542 | 43,608.01 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| ount: 1 B | В | Oct 14, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.87 | 19532 | 17,087.69 |
| | | | | | | | | | | 0.07 | 10002 | 17,007.00 |
| | | | | | | | | | | | | |
| ount: 1 | В | Oct 14, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.88 | 19532 | 17,095.10 |
| | | | | | | | | | | | | |
| ount: 1 B | В | Oct 11, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 88.63 | 207 | 18,345.60 |
| | | | | | | | | | | | | |
| | | 0.144.0040 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | 1 | | | |
| ount: 2 | В | Oct 11, 2019 | В | Snare | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.88 | 331251 | 291,023.02 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| ount: 1 B | В | Oct 11, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 87.82 | 147 | 12,909.70 |
| | | | | | | | | | | | | |
| ount: 2 | В | Oct 11, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.88 | 338857 | 298,005.37 |
| | | | | | | | | | | | | |
| | | | | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| unt 1 | D | Oct 10, 2010 | D | Delivative | DERIVATIVES WARRET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| unt: 1 E | В | Oct 10, 2019 | В | | | | | | | 00.04 | | |
| unt: 1 E | В | Oct 10, 2019 | В | | | | | | | | 514 | 44.620.60 |
| ount: 1 Ē | В | Oct 10, 2019 | В | | | | | | | 86.81 | 514 | 44,620.60 |
| | В | | В | | | | | | | 00.01 | 514 | 44,620.60 |
| | В | Oct 10, 2019 Oct 10, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 00.01 | 514 | 44,620.60 |
| ount: 1 E | В | | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | В | | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.86 | 216986 | 44,620.60 186,398.64 |
| | В | | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | В | | B | Share Derivative | SECURITIES MARKET DERIVATIVES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company Associated Company | | | |
| ount: 2 B | В | Oct 10, 2019 | | | | | | | | 0.86 | 216986 | 186,398.64 |
| unt: 2 B | В | Oct 10, 2019 | | | | | | | | | | |

| Count: 1 | В | Oct 10, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
|----------|---|--------------|---|------------|----------------------|--------------------------------|-------------------------|------------------|----------------------|-------|-----------|------------|
| | | | | | | | | | | 0.84 | 1257 | 1,055.25 |
| | | | | | | | | | | 0.04 | 1201 | 1,000.20 |
| | | | | | | | | | | | | |
| Count: 2 | В | Oct 10, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.86 | 248058 | 212,966.80 |
| | | | | | | | | | | 0.00 | 240030 | 212,900.00 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 9, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 84.77 | 12 | 1,017.20 |
| | | | | | | | | | | 04.77 | 12 | 1,017.20 |
| | | | | | | | | | | | | |
| Count: 2 | В | Oct 9, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.83 | 123197 | 102,792.95 |
| | | | | | | | | | | 0.63 | 123197 | 102,792.95 |
| | | | | | | | | | | | | |
| Count: 2 | В | Oct 9, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.84 | 124397 | 103,880.59 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 8, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 82.82 | 1487 | 123,155.30 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 8, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.83 | 1257 | 1,047.08 |
| | | | | | | | | | | | | |
| Count: 3 | В | Oct 8, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.83 | 121898 | 101,121.18 |
| | | | | | | | | | | | | |
| Count: 2 | В | Oct 8, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.83 | 244055 | 202,297.16 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 7, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | , | | | |
| | | | | | | | | | | 83.21 | 401 | 33,368.50 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 7, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Oddin. 1 | | 00.7, 2010 | | Gridio | 02001111201111111121 | B. G.E. I. G. North T. William | B. IOIEEIOO B. IOIEEIOO | Excoditio Mondo | 7 Oboliaco Odripariy | | | |
| | | | | | | | | | | 0.83 | 150000 | 124,711.45 |
| | | | | | | | | | | | | |
| Count: 1 | | Oct 7, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Comment | | | |
| Count. 1 | В | Oct 7, 2019 | 5 | Snare | SECURITIES WARRET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.83 | 33100 | 27,529.45 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 4, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 82.89 | 574 | 47,578.10 |
| | | | | | | | | | | | - | , |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 4, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.83 | 20528 | 16,987.17 |
| | | | | | | | | | | 0.63 | 20020 | 10,967.17 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 4, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | 1 | | | | | | | | | 0.00 | 000000 | 007 450 10 |
| | 1 | | | | | | | | | 0.83 | 286306 | 237,450.19 |
| | 1 | | | | | | | | | | | |
| Count: 1 | В | Oct 3, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | 1 | | | | | | | | | | , | |
| | 1 | | | | | | | | | 82.35 | 1,160.00 | 95,529.60 |
| | 1 | | | | | | | | | | | |
| Count: 1 | В | Oct 3, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | 1 | | | | | | | | | | | |
| | 1 | 1 | | T. Control | I | 1 | I I | | 1 | 0.84 | 34.000.00 | 28.709.86 |

| | | | | | | | | | | 0.0 | 0-1,000.00 | 20,100.0 |
|----------|---|---------------------------|---|------------|--------------------|------------------------|---------------------|--------------------|--------------------|-------|------------|-----------|
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 3, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.83 | 150,000.00 | 125,059.9 |
| | | | | | | | | | | 0.00 | 100,000.00 | 120,000.0 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 2, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 85.10 | 69.00 | 5,871.9 |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 2, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.83 | 11,607.00 | 9,685. |
| | | | | | | | | | | | | |
| ount: 1 | В | Oct 2, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | . , | | | |
| | | | | | | | | | | 83.51 | 96.00 | 8,016. |
| | | | | | | | | | | | | |
| ount: 1 | В | Oct 2, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| ount. I | | 0012, 2013 | | Oriale | OLOGICITES WARRET | BAGILLIOO KONOTANTINOO | BAGILLIOO BAGILLIOO | Executive Welliber | Associated Company | | | |
| | | | | | | | | | | 0.84 | 22,153.00 | 18,576. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| ount: 1 | В | Oct 1, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.88 | 27,424.00 | 24,062. |
| | | | | | | | | | | 0.00 | 27,424.00 | 24,002. |
| | | | | | | | | | | | | |
| Count: 1 | В | Oct 1, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 88.30 | 100.00 | 8,830.0 |
| | | | | | | | | | | | | |
| ount: 1 | В | Oct 1, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | , , , | | | |
| | | | | | | | | | | 0.88 | 23,445.00 | 20,631.0 |
| | | | | | | | | | | | | |
| Count: 1 | B | Sep 30, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| ount. I | P | Sep 30, 2019 | P | Snare | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.89 | 1,000.00 | 888. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| ount: 1 | В | Sep 30, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 89.10 | 10.00 | 891. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| ount: 1 | В | Sep 30, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.89 | 8,028.00 | 7,128. |
| | | | | | | | | | | | | |
| ount: 1 | В | Sep 27, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.87 | 48,028.00 | 41,845. |
| | | | | | | | | | | | | |
| ount: 1 | В | Sep 27, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| ount. I | | G6P 21, 2019 | | Delivative | DERIVATIVES WARRET | BASILLIOO KONOTANTINOS | BAGILLIOO BAGILLIOO | Executive Welliber | Associated Company | | | |
| | | | | | | | | | | 87.30 | 100.00 | 8,730. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | В | Sep 27, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| ount: 1 | | | | | | | | | | 0.88 | 30,000.00 | 26,330. |
| ount: 1 | | | | | | | | | | 0.00 | 30,000.00 | 20,330. |
| ount: 1 | | | | | | | | | | | | |
| Sount: 1 | | | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| fount: 1 | В | Sep 26, 2019 | В | | | | | | | | | |
| | В | Sep 26, 2019 | В | | | | | | | | | |
| | В | Sep 26, 2019 | В | | | | | | | 0.88 | 10,000.00 | 8,800.0 |
| | В | Sep 26, 2019 | В | | | | | | | 0.88 | 10,000.00 | 8,800. |
| ount: 1 | В | | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 10,000.00 | 8,800. |
| | В | Sep 26, 2019 Sep 26, 2019 | | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 10,000.00 | 8,800. |
| ount: 1 | В | | | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 10,000.00 | 8,800.l |

| Count: 1 | В | Sep 26, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|-----------|------------|
| | | | | | | | | | | 0.86 | 6,450.00 | 5,579.25 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 25, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.86 | 53,550.00 | 45,823.58 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 25, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 85.98 | 471.00 | 40,494.80 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 24, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.87 | 8,028.00 | 6,976.33 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 23, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.85 | 408 | 348.15 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 20, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 04.05 | 007 | 00.040.70 |
| | | | | | | | | | | 84.65 | 807 | 68,310.70 |
| Count: 1 | B | San 20, 2010 | В | Shara | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Annoninted Company | | | |
| Count: 1 | В | Sep 20, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.86 | 51810 | 44,349.66 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 20, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 85.8 | 871 | 74,727.90 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 20, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.85 | 507129 | 431,039.25 |
| | | | | | | | | | | 0.00 | 307123 | 401,000.20 |
| Count: 1 | B | Sep 19, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | 1 | | | | | | | | | | |
| | | | | | | | | | | 83.22 | 2373 | 197,487.00 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 19, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 84.01 | 2035 | 170,970.50 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 19, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.85 | 28900 | 24,421.10 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 18, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 83.09 | 3562 | 295,956.90 |
| 014 | | 0 40 0040 | | 0: | OF OUR TIFE MARKET | BASILEIOU KONSTANTINOS | DAOI FIOU DAOI FIOO | Executive Member | 1 | | | |
| Count: 1 | В | Sep 18, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.84 | 28430 | 23,773.04 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 18, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 84.08 | 3562 | 299,509.10 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 18, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 1 | | |
| | | | | | | | | | | | 2000 4 | 04.757.74 |
| | | | | | | | | | | 0.84 | 29634 | 24,757.71 |
| Count: 1 | P | Con 47 2040 | | Dorivativ- | DEDIVATIVES MARKET | PACIFICAL KONGTANTINOS | DACH EIGH BACH FIGG | Evanution March | Appointed Comment | 1 | | |
| Count: 1 | P | Sep 17, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | I | | | | | 1 | | | I | 82.7 | 80 | 6.616.00 |

| | | | | | | | | | | JE., | - | 0,010.0 |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|--------------------|-------|-------|------------|
| Count: 1 | В | Sep 17, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | , , | 0.83 | 2810 | 2,346.35 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 17, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.82 | 2810 | 2,316.85 |
| Count: 1 | В | Sep 17, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 83.78 | 80 | 6,702.00 |
| Count: 2 | В | Sep 17, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0.84 | 20000 | 16,702.00 |
| Count: 1 | В | Sep 17, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.82 | 18465 | 15,201.39 |
| 2 | | 0.40.0040 | | 2 | DEDIVATIVES MADVET | DAGU FIGU KONOTANTINO | DARK FIRM DARK FIRM | 5 M . I | | | | |
| Count: 1 | В | Sep 16, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 82.57 | 176 | 14,531.80 |
| | | | | | | | | | | 62.37 | 170 | 14,551.60 |
| Count: 1 | В | Sep 16, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 83.3 | 125 | 10,412.50 |
| Count: 1 | В | Sep 16, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0.82 | 2570 | 2,120.25 |
| Count: 1 | В | Sep 16, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.83 | 17544 | 14,582.21 |
| Count: 1 | В | Sep 13, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 82 | 1059 | 86,841.80 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 13, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.82 | 10000 | 8,200.00 |
| Count: 1 | В | Sep 13, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 82.72 | 597 | 49,380.90 |
| Count: 1 | В | Sep 13, 2019 | s | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.82 | 56200 | 46,352.65 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 12, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | 2005 | 545 500 40 |
| | | | | | | | | | | 81 | 6365 | 515,536.10 |
| Count: 2 | В | Sep 12, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0.82 | 5140 | 4,214.80 |
| Count: 2 | В | Sep 12, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.82 | 62355 | 50,962.96 |
| | | | | | | | | | | | | |

| Count: 1 | В | Sep 12, 2019 | S Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
|----------|----|--------------|--------------|--------------------|--|---------------------|------------------|--------------------|-------|--------|------------|
| | | | | | | | | | 81.99 | 6346 | 520,317.90 |
| | | | | | | | | | | | , |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 12, 2019 | S Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0.82 | 37174 | 30,469.31 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 11, 2019 | B Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 81.35 | 549 | 44,662.20 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| Count: 2 | В | Sep 11, 2019 | B Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0.81 | 14401 | 11,621.30 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 11, 2019 | S Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 81.72 | 306 | 25,006.00 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| Count: 2 | В | Sep 11, 2019 | S Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | T | | |
| | | | | | | | | | 0.82 | 50001 | 40,915.81 |
| | | | | | | | | | 1.02 | | , |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 10, 2019 | B Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 80.9 | 400 | 32,360.00 |
| | | | | | | | | | | | , |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 10, 2019 | B Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0.81 | 44325 | 35,728.25 |
| | | | | | | | | | 0.01 | 44020 | 33,720.23 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 10, 2019 | S Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 81.61 | 803 | 65,530.60 |
| | | | | | | | | | 01.01 | 003 | 05,530.00 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 10, 2019 | S Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0.82 | 5000 | 4,080.00 |
| | | | | | | | | | 0.02 | 0000 | 1,000.00 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 9, 2019 | B Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 80.3 | 3 | 240.90 |
| | | | | | | | | | 00.3 | J | 240.30 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 9, 2019 | B Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0.82 | 36000 | 29,464.31 |
| | | | | | | | | | 0.82 | 30000 | 23,404.31 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 9, 2019 | S Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 80.53 | 30 | 2,416.00 |
| | | | | | | | | | 60.53 | 30 | 2,410.00 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 9, 2019 | S Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.4000 | 07.000 15 |
| | | | | | | | | | 0.8 | 34600 | 27,826.45 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 6, 2019 | B Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | |
| | | | | | | | | | 81.9 | 61 | 4,996.20 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 6, 2019 | B Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | |
| | | | | | | | | | 0.82 | 92037 | 75,535.93 |
| | | | | | | | | | | | |
| Count: 1 | В | Sep 6, 2019 | S Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | - | | |
| | | | | | | | | | | | |
| | T. | 1 | 1 | I . | The state of the s | 1 | | 1 | 82.57 | 598 | 49.377.70 |

| | | | | | | | | | | OE.01 | | |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|----------------------|--------------------|-------|--------|--------------|
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 6, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.82 | 19538 | 16,107.31 |
| Count: 1 | | C== F 2040 | В | Desirativa | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Comment | | | |
| Count. 1 | P | Sep 5, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive interriber | Associated Company | | | |
| | | | | | | | | | | 80.81 | 1078 | 87,116.20 |
| Count: 1 | В | Sep 5, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.8 | 37000 | 29,760.00 |
| | | | | | | | | | | | | ,,,,, |
| Count: 1 | В | Sep 5, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 81.13 | 139 | 11,277.00 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 5, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.81 | 139400 | 112,580.75 |
| Count: 1 | В | Sep 4, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count. 1 | | OGP 4, 2013 | | Delivative | DERIVATIVES WARRET | BAGILLIOO NONO TANTINOO | BASILLIOS BASILLIOS | LABOULIVE INIGITIDES | Associated Company | | | |
| | | | | | | | | | | 77.61 | 179 | 13,892.60 |
| Count: 2 | В | Sep 4, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.77 | 85001 | 65,377.13 |
| | | | | | | | | | | | | |
| Count: 2 | В | Sep 4, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.77 | 102901 | 79,660.30 |
| | | | | | | | | | | | | |
| Count: 1 | В | Sep 2, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 79.1 | 50 | 3,955.00 |
| | | | | | | | | | | | | |
| Count: 2 | В | Sep 2, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 2.23 | 13400 | 29,825.94 |
| Count: 1 | В | Aug 30, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 79.99 | 760 | 60,788.70 |
| | | | | | | | | | | 79.59 | 700 | 00,700.70 |
| Count: 1 | В | Aug 30, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.79 | 47500 | 37,358.48 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 30, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 78.16 | 96 | 7,503.00 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 30, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 80.42 | 105500 | 8,484,201.00 |
| Count: 1 | R | Aug 29, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count. 1 | B | Aug 29, 2019 | | Sildle | SECONTIES WARRET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.76 | 100000 | 75,927.50 |
| Count: 1 | В | Aug 29, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 76.2 | 300 | 22,860.00 |
| | | | | | | | | | | , 0.2 | 300 | 22,000.00 |
| | | | | | | | | | 1 | | | |

| Count: 1 | В | Aug 29, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
|----------|----|---------------------|---|------------|----------------------|--------------------------|-----------------------|------------------|---|-------|---------|------------|
| | | | | | | | | | | 0.76 | 71204 | 54,192.33 |
| | | | | | | | | | | 0.76 | 71204 | 34,192.33 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 28, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 71.4 | 1 | 71.40 |
| | | | | | | | | | | 71.4 | ' | 71.40 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 28, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.70 | 450000 | 400 000 04 |
| | | | | | | | | | | 0.72 | 152638 | 109,236.04 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 28, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 72.46 | 1107 | 80,209.30 |
| | | | | | | | | | | 72.40 | 1107 | 80,209.30 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 28, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.74 | 40400 | 00.070.00 |
| | | | | | | | | | | 0.71 | 42183 | 29,970.28 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 27, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 71.01 | 103 | 7,313.90 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 27, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.7 | 78000 | 54,905.50 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 27, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 71.14 | 580 | 41,262.00 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 27, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0.7 | 70276 | 49,453.16 |
| | | | | | | | | | | | | |
| Count: 1 | B | Aug 26, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | 1 - 9 - 0 , - 0 - 0 | | | | | | | , | | | |
| | | | | | | | | | | 0.68 | 48.010 | 32.714,52 |
| | | | | | | | | | | | | |
| Count: 1 | B | Aug 26, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Court. 1 | | 7 tag 20, 2010 | | Ontaro | DESCRIPTION WITH THE | B. G.E.E. GO NOTO NATION | Broile.ioo Broile.ioo | Excoditio Mondo | 7 Social Company | | | |
| | | | | | | | | | | 0.69 | 102.641 | 70.952,26 |
| | | | | | | | | | | | | |
| Count: 1 | D. | Aug 26, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Commence | | | |
| Count: 1 | P | Aug 26, 2019 | P | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 69.67 | 446 | 31.072,80 |
| | | | | | | | | | | | | |
| | _ | | | | | | | | | | | |
| Count: 1 | В | Aug 23, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.7 | 31.100 | 21.861,65 |
| | | | | | | | | | | | | , |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 23, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.69 | 21.656 | 14.934,87 |
| | | | | | | | | | | 0.09 | 21.000 | 14.554,67 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 23, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 00.0 | 13 | 007.00 |
| | | | | | | | | | | 68.3 | 13 | 887,90 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 23, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 70.75 | 292 | 20.660,10 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 22, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | I | 1 | 1 | 1 | 1 | I | | 1 | 0.7 | 31.416 | 21.986.16 |

| Count: 1 | В | Aug 22, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
|----------|---|--------------|---|------------|--------------------|------------------------|---------------------|------------------|---|-------|--------|--------|
| | | | | | | | | | | 0.71 | 18.147 | 12.940 |
| | | | | | DEDIVATIVES MADVET | DAOI FIOLI KONOTANTINO | 2401 5101 2401 5100 | | | | | |
| Count: 1 | В | Aug 22, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 70.31 | 116 | 8.156 |
| Count: 1 | В | Aug 22, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 70.15 | 349 | 24.481 |
| Count: 1 | В | Aug 21, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | , | 0.69 | 37.800 | 26.254 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 21, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.69 | 50 | 3 |
| Count: 1 | В | Aug 21, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.68 | 50 | 34 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 21, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 69.76 | 378 | 26.370 |
| Count: 1 | В | Aug 20, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.68 | 3.000 | 2.045 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 20, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.69 | 1.876 | 1.298 |
| Count: 1 | В | Aug 20, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.7 | 1.876 | 1.30 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 20, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 68.62 | 30 | 2.05 |
| Count: 1 | В | Aug 19, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count. 1 | B | Aug 19, 2019 | B | Silate | SECONTIES WARRET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.68 | 14.203 | 9.655 |
| Count: 1 | В | Aug 19, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.66 | 18.003 | 11.906 |
| | | | | | | | | | | | | |
| Count: 1 | В | Aug 19, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 68.06 | 143 | 9.73 |
| Count: 1 | В | Aug 16, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.64 | 88.600 | 56.91 |
| | | | | | | | | | | | | |
| | В | Aug 16, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count: 1 | | 1 ' | | | | | | | | | | |

| | Count: 1 | В | Aug 14, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
|--|----------|---|---------------|---|------------|--------------------|---------------------------------|-------------------------|--------------------|----------------------|-------|---------|------------|
| | | | | | | | | | | | 0.67 | 58 851 | 39 295 46 |
| | | | | | | | | | | | 0.07 | 00.001 | 00.200,10 |
| | | | | | | | | | | | | | |
| | Count: 1 | В | Aug 14, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | 0.68 | 21.061 | 14 303 60 |
| 1 | | | | | | | | | | | 0.00 | 21.001 | 14.393,00 |
| | | | | | | | | | | | | | |
| | Count: 1 | В | Aug 14, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | GE . | 10 | 650.00 |
| | | | | | | | | | | | 65 | 10 | 650,00 |
| | | | | | | | | | | | | | |
| | Count: 1 | В | Aug 14, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | 00.00 | 400 | 20.000.00 |
| | | | | | | | | | | | 00.03 | 420 | 20.000,00 |
| | | | | | | | | | | | | | |
| | Count: 1 | В | Aug 13, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | | |
| Control | | | | | | | | | | | 0.67 | 20.000 | 13.400,00 |
| 2007 | | | | | | | | | | | | | |
| | Count: 1 | В | Aug 13, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | | |
| Court | | | | | | | | | | | 0.69 | 429.814 | 294.714,58 |
| Court | | | | | | | | | | | | | |
| Company Comp | Count: 1 | В | Aug 13, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| COULT 2 Aug 13.2018 2 Colored CENNATICS MARKET DESIGNATIONS DESIGNATIO | | | | | | | | | | | | | |
| Court | | | | | | | | | | | 70.33 | 65 | 4.571,50 |
| Court | | | | | | | | | | | | | |
| Court | Count: 1 | В | Aug 13, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| CAUSE 1 0 Ag 1, 2019 5 Share SECURITES MARKET ANGISTON ANGISTON FINOS ANGISTON FI | | | | | | | | | | , , , | | | |
| Court | | | | | | | | | | | 68.7 | 1.285 | 88.284,80 |
| Court | | | | | | | | | | | | | |
| Court | Count: 1 | B | Aug 13, 2010 | S | Shara | SECURITIES MARKET | BASII EIOU KONSTANTINOS | BASII EIOU BASII EIOS | Executive Member | Associated Company | | | |
| Court | Oddin. 1 | | 7109 10, 2010 | | Onaro | ocooning manaci | B. G.E. I. G. North T. Williams | Broizzioo Broizzioo | Expoditio Monibol | 7 Oboliaco Odripariy | | | |
| DOWE 1 8 Aug 12,2019 8 Develope SECURITES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8.500 4.573,75 OAGE 1 8 Aug 12,2019 9 Develope Definative MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 22,207 16,888,31 OAVE 1 8 Aug 8,2019 8 Develope Definative MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 23,100 17,330,80 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 24,100 17,330,80 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,20 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 75,77 13 604,3 | | | | | | | | | | | 0.68 | 20.000 | 13.610,00 |
| DOWE 1 8 Aug 12,2019 8 Develope SECURITES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8.500 4.573,75 OAGE 1 8 Aug 12,2019 9 Develope Definative MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 22,207 16,888,31 OAVE 1 8 Aug 8,2019 8 Develope Definative MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 23,100 17,330,80 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 24,100 17,330,80 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,20 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 8,00 119 14,865,70 OAVE 1 8 Aug 8,2019 8 Develope DEFINATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executive Member Associated Company O7 75,77 13 604,3 | | | | | | | | | | | | | |
| DOWE 1 8 Aug 12,2019 8 Develope SECURITES MARKET BASILEDU KONSTANTINOS BASILEDU BASILEDOS Executivo Member Associated Company 77,50 110 13,863,31 DOWE 1 8 Aug 2,2019 8 Develope SECURITES MARKET BASILEDU KONSTANTINOS BASILEDU BASILEDOS Executivo Member Associated Company 77,50 110 13,863,70 DOWE 1 8 Aug 3,2019 8 Develope BETVATIVES MARKET BASILEDU KONSTANTINOS BASILEDU BASILEDOS Executivo Member Associated Company 0.77 2,2100 17,230,00 DOWE 1 8 Aug 3,2019 8 Develope BETVATIVES MARKET BASILEDU KONSTANTINOS BASILEDU BASILEDOS Executivo Member Associated Company 78,50 110 17,230,00 DOWE 1 8 Aug 3,2019 8 Develope BETVATIVES MARKET BASILEDU KONSTANTINOS BASILEDU BASILEDOS Executivo Member Associated Company 78,50 110 14,665,20 DOWE 1 8 Aug 3,2019 8 Develope BETVATIVES MARKET BASILEDU KONSTANTINOS BASILEDU BASILEDOS Executivo Member Associated Company 78,50 110 14,665,20 DOWE 1 8 Aug 3,2019 8 Develope BETVATIVES MARKET BASILEDU KONSTANTINOS BASILEDU BASILEDOS Executivo Member Associated Company 78,70 110 14,665,20 DOWE 1 8 Aug 3,2019 8 Develope BETVATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executivo Member Associated Company 78,77 13 60,43 DOWE 1 8 Aug 3,2019 8 Develope BETVATIVES MARKET BASILEDU KONSTANTINOS BASILEDOS Executivo Member Associated Company 78,77 13 60,43 | County 4 | | A 42, 2040 | 0 | Chara | OF CURITIES MARKET | DACH FIGH KONCTANTINGS | DACH FIOU DACH FIOC | Constitut Manches | Associated Communic | | | |
| Court | Count. 1 | P | Aug 13, 2019 | 3 | Strate | SECONTIES WARRET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Court | | | | | | | | | | | 0.7 | 6.500 | 4.575,75 |
| Court 1 8 Aug 9, 2019 8 Derivative DERIVATIVES MARKET BASILEOU KONSTANTINOS BASILEOU BASILEOS Executive Member Associated Company 75.92 110 8.350,70 | | | | | | | | | | | | | |
| Depret | 0 11 | | 10.0010 | | lo: | OF OUR TIFE MARKET | DAON FION WONOTANTINOS | DAOU FIOU DAOU FIOO | 5 6 14 1 | 1 110 | | | |
| Court 1 B | Count: 1 | P | Aug 12, 2019 | В | Snare | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Doubte 1 B Aug 9, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 23.100 17.330,80 Count: 1 B Aug 9, 2019 S Demotive DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.60 194 14.685,20 Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.76 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Demotive DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.76 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.72 13 984.3 | | | | | | | | | | | 0.73 | 23.037 | 16.868,31 |
| Doubte 1 B Aug 9, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 23.100 17.330,80 Count: 1 B Aug 9, 2019 S Demotive DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.69 194 14.685,20 Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.76 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Demotive DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.72 13 984.3 | | | | | | | | | | | | | |
| Doubt 1 B Aug 9, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 22.100 17.330,80 Count: 1 B Aug 9, 2019 S Demotive DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.60 194 14.685,20 Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.76 8.024 6.013,68 Count: 1 B Aug 8, 2019 B Demotive DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013,68 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.72 13 984,3 | | | | | | | | | | | | | |
| Count: 1 B Aug 9, 2019 B Share SECURITIES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 0.75 23.10 17.330.80 Count: 1 B Aug 9, 2019 S Derivative DERIVATIVES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 75.69 194 14.685.20 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 0.75 8.024 6.013,68 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 75.72 13 984.3 | Count: 1 | В | Aug 12, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count: 1 B Aug 9, 2019 B Share SECURITIES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 0.75 23.10 17.330.80 Count: 1 B Aug 9, 2019 S Derivative DERIVATIVES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 75.69 194 14.685.20 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 0.75 8.024 6.013,68 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILETOU KONSTANTINOS BASILETOU BASILETOS Executive Member Associated Company 75.72 13 984.3 | | | | | | | | | | | 75.92 | 110 | 8.350.70 |
| Count: 1 B Aug 9, 2019 S Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.69 194 14.685.20 Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013.66 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.72 13 984.3 | | | | | | | | | | | | | |
| Derivative | | | | | | | | | | | | | |
| Count: 1 B Aug 9, 2019 S Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.69 194 14.685.20 Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013.66 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.72 13 984.3 | Count: 1 | В | Aug 9, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count: 1 B Aug 9, 2019 S Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.69 194 14.685.20 Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013.66 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75.72 13 984.3 | | | | | | | | | | | 0.75 | 23.100 | 17 330 80 |
| Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 | | | | | | | | | | | 0.75 | 25.100 | 17.550,60 |
| Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 | | | | | | | | | | | | | |
| Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | Count: 1 | В | Aug 9, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count: 1 B Aug 9, 2019 S Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 0.75 8.024 6.013,66 Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | | | | | | | | | | | 75.0- | | 4 4 000 |
| Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | | | | | | | | | | | /5.69 | 194 | 14.685,20 |
| Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | | | | | | | | | | | | | |
| Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | Count: 1 | В | Aug 9, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count: 1 B Aug 8, 2019 B Derivative DERIVATIVES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company 75,72 13 984,3 Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | | | | | | | | | | | | | |
| Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | | | | | | | | | | | 0.75 | 8.024 | 6.013,66 |
| Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | | | | | | | | | | | | | |
| Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | Count: 1 | В | Aug 8, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 1 | | |
| Count: 1 B Aug 8, 2019 B Share SECURITIES MARKET BASILEIOU KONSTANTINOS BASILEIOU BASILEIOS Executive Member Associated Company | | | 1 | | | | | | | | | | |
| | | | | | | | | | | | 75,72 | 13 | 984,3 |
| | | | | | | | | | | | | | |
| | Count: 1 | B | Aug 8, 2019 | B | Share | SECURITIES MARKET | BASII FIOU KONSTANTINOS | BASII FIOLI BASII FIOS | Executive Member | Associated Company | | | |
| 0.74 15 10.989.05 | | ľ | 7.0g 0, 2010 | ľ | | ocoonineo mante | S. GLEEGO NONOTANTINOO | S. ISIEE ISS BROILE ISS | ZACCULTO INICITIDO | . 2000ialog Company | | | |
| | | 1 | | | I | | 1 | | | | 0.74 | 15 | 10.989.05 |

| | | | | | | | | | · | | |
|-----|---------------------------------------|-----|------------------------|--|--|---|--|--|---------|---------|---------------------|
| | | | | | | | | | | | |
| В | Aug 8, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 74,77 | 198 | 14.804,3 |
| | | | | | | | | | 1.4,77 | 100 | 11.001,0 |
| | | | | | | | | | | | |
| В | Aug 8, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0,73 | 25 | 18.172,49 |
| | | | | | | | | | 1 | | |
| | | | | | | | | | | | |
| В | Aug 7, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0,75 | 20 | 15.050,7 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| В | Aug 7, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 74,91 | 202 | 15.13 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| В | Aug 7, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0,75 | 5 | 3.380,73 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| В | Aug 6, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 77,10 | 18 | 1.387,8 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| В | Aug 6, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0,76 | 103 | 78.462,98 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| В | Aug 6, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 76,04 | 379 | 28.82 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| В | Aug 6, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0,76 | 87 | 66.177,75 |
| | | | | | | | | | 1, 2, 2 | - | |
| | | | | | | | | | | | |
| В | Aug 5, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 76,20 | 10 | 762.00 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| В | Aug 5, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | 0,77 | | 6.913,2 |
| | | | | | | | | | | 9 | |
| | | | | | | | | | 0,77 | 9 | |
| | | | | | | | | | 0,77 | 9 | |
| В | Aug 5, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0,77 | 9 | |
| В | Aug 5, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | 9 | |
| В | Aug 5, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 80,00 | 1 | 80.00 |
| | | | | | | | | | | 1 | |
| В | Aug 5, 2019 Aug 5, 2019 | S | Derivative Share | DERIVATIVES MARKET SECURITIES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS BASILEIOU BASILEIOS | Executive Member | Associated Company Associated Company | | 1 | |
| | | | | | | | | | 80,00 | 9 | 80.00 |
| | | | | | | | | | | 9 | |
| | Aug 5, 2019 | | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 80,00 | 9 | 80.00 |
| | | | | | | | | | 80,00 | 9 | 80.00 |
| | Aug 5, 2019 | | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0,77 | 9 | 80.00 6.913,2 |
| | Aug 5, 2019 | | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 80,00 | 9 1 1 9 | 80.00 |
| | Aug 5, 2019 Aug 2, 2019 | S | Share | SECURITIES MARKET SECURITIES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS BASILEIOU BASILEIOS | Executive Member Executive Member | Associated Company Associated Company | 0,77 | 9 | 80.00 6.913,2 |
| | Aug 5, 2019 | | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0,77 | 9 | 80.00 6.913,2 |
| | Aug 5, 2019 Aug 2, 2019 | S | Share | SECURITIES MARKET SECURITIES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS BASILEIOU BASILEIOS | Executive Member Executive Member | Associated Company Associated Company | 0.77 | | 6.913,2 8.620,35 |
| | Aug 5, 2019 Aug 2, 2019 | S | Share | SECURITIES MARKET SECURITIES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS BASILEIOU BASILEIOS | Executive Member Executive Member | Associated Company Associated Company | 0,77 | 9 9 10 | 80.00 6.913,2 |
| | Aug 5, 2019 Aug 2, 2019 | S | Share | SECURITIES MARKET SECURITIES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS BASILEIOU BASILEIOS | Executive Member Executive Member | Associated Company Associated Company | 0.77 | | 6.913,2 8.620,35 |
| | Aug 5, 2019 Aug 2, 2019 | S | Share | SECURITIES MARKET SECURITIES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS BASILEIOU BASILEIOS | Executive Member Executive Member | Associated Company Associated Company | 0.77 | | 6.913,2 8.620,35 |
| B B | Aug 5, 2019 Aug 2, 2019 Aug 2, 2019 | S B | Share Share Derivative | SECURITIES MARKET SECURITIES MARKET DERIVATIVES MARKET | BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS BASILEIOU BASILEIOS BASILEIOU BASILEIOS | Executive Member Executive Member Executive Member | Associated Company Associated Company Associated Company | 0.77 | | 6.913,2 8.620,35 |

| Count: 1 | В | Jul 29, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
|----------|---|--------------|---|------------|--------------------|--|-------------------------|----------------------|-----------------------|-------|-----|-----------|
| | | | | | | | | | | 0,87 | 28 | 24.33 |
| | | | | | | | | | | | | |
| | _ | | | | | | | | | | | |
| Count: 1 | В | Jul 29, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0,87 | 5 | 4.128,65 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 29, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Oddin. 1 | | 00120, 2010 | | Citato | OLOGIATILO MARKALI | Briole io North Marriago | Broile 100 Broile 100 | LAGOGATO MONIDO | 7.0000iatod Gorripary | | | |
| | | | | | | | | | | 0,87 | 28 | 24.335,96 |
| | | | | | | | | | | | | |
| Count: 2 | В | Jul 26, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0,86 | 31 | 26.789,08 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 26, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,87 | 23 | 19.915,5 |
| | | | | | | | | | | 0,01 | 20 | 10.010,0 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 25, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0,85 | 5 | 4.033,19 |
| | | | | | | | | | | | | |
| Count: 2 | В | Jul 25, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Gount. 2 | P | Jul 23, 2019 | ľ | Share | SECONTIES WARRET | BASILEIOU KONSTANTINOS | BASILEIOO BASILEIOS | Executive interriber | Associated Company | | | |
| | | | | | | | | | | 0,86 | 110 | 94.802,83 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 25, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0,87 | 41 | 35.165,11 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 24, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.04 | | 4 0 40 07 |
| | | | | | | | | | | 0,84 | 1 | 1.246,37 |
| | | | | | | | | | | | | |
| Count: 2 | В | Jul 24, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,84 | 6 | 5.248,32 |
| | | | | | | | | | | | | |
| Count: 1 | B | Jul 23, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| Count. 1 | P | Jul 23, 2019 | ľ | Share | SECONTIES WARRET | BASILEIOU KONSTANTINOS | BASILEIOO BASILEIOS | Executive interriber | Associated Company | | | |
| | | | | | | | | | | 0,82 | 5 | 4.117,5 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 23, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0,82 | 5 | 4.112,5 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 22, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | 4 |
| | | | | | | | | | | 0,86 | 14 | 12.01 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 22, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,86 | 14 | 12.01 |
| | | | | | | | | | | 0,00 | 17 | .2.01 |
| 2 11 | | 11140 5717 | | 10.1.5 | DEDUCATO CO | DAOU FIGURA CONTRACTOR | DAOI FIOL | 15 | 1 | | | |
| Count: 1 | В | Jul 19, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 84,97 | 267 | 22.686,8 |
| | | | | | | | | | | | | |
| Count: 1 | B | Jul 19, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | ľ | 55. 15, 2015 | ľ | 311010 | OCOONINEO MARKIET | S. GEELOO RONO PARTINOO | B. IO.EE.IOO BAOIEE.IOO | CACCALITO IVIDITIDO | . 100000000 Odripary | | | |
| | | | | | | | | | | 0,85 | 45 | 38.092,5 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 19, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | + | | |
| | | | | | | | | | | | | |
| | 1 | | 1 | 1 | I | 1 | 1 | 1 | 1 | 0.85 | 72 | 61.027.61 |

| | 1 | 1 | | | ı | | | 1 | 1 | 0,00 | 1 | 002.,0. |
|---------|---|--------------|---|------------|--------------------|--|---------------------|--------------------|---|-------|-----|-----------|
| | | | | | | | | | | | | |
| unt: 1 | В | Jul 18, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0.02 | | E4 424 02 |
| | | | | | | | | | | 0,83 | 66 | 54.431,03 |
| | | | | | | | | | | | | |
| unt: 1 | В | Jul 18, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,84 | 4 | 3.393,72 |
| | | | | | | | | | | ,,,,, | | |
| | | 11147 0040 | | | OFOURITIES MARKET | BASILEIOU KONSTANTINOS | DAON FIOU DAON FIOO | 5 6 M | | | | |
| ount: 1 | В | Jul 17, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,82 | 500 | 409.00 |
| | | | | | | | | | | | | |
| ount: 1 | B | Jul 17, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| on. I | | 041 17, 2010 | | Donvaivo | DEMONTH ES MARKET | BY OFFER OF THE PARTY OF THE PA | D/O/LL/OO D/O/LL/OO | Excoditio Monipol | 7 obbolated bumpany | | | |
| | | | | | | | | | | 82,70 | 5 | 413,5 |
| | | | | | | | | | | | | |
| unt: 1 | В | Jul 16, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 0,80 | 6 | 4.887,65 |
| | | | | | | | | | | | | |
| unt: 1 | В | Jul 16, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 81,02 | 61 | 4.94 |
| | | | | | | | | | | | | |
| ount: 1 | В | Jul 15, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 80,50 | 7 | 563,5 |
| | | | | | | | | | | | | |
| ount: 1 | В | Jul 15, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0,81 | 45 | 12.514,12 |
| | | | | | | | | | | 0,61 | 15 | 12.514,12 |
| | | | | | | | | | | | | |
| ount: 1 | В | Jul 15, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,81 | 45 | 36.209,58 |
| | | | | | | | | | | 0,01 | -10 | 00.200,00 |
| | | | | | | | | | | | | |
| ount: 1 | В | Jul 12, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,80 | 33 | 26.27 |
| | | | | | | | | | | | | |
| ount: 1 | | Jul 12, 2019 | 0 | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Comments | | | |
| ount: 1 | P | Jul 12, 2019 | 5 | Snare | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive iviember | Associated Company | | | |
| | | | | | | | | | | 0,80 | 33 | 26.324,25 |
| | | | | | | | | | | | | |
| ount: 2 | B | Jul 11, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | 1 | | | | | | | , | | | |
| | | | | | | | | | | 0,82 | 19 | 15.653,70 |
| | | | | | | | | | | | | |
| ount: 1 | В | Jul 11, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 84,00 | 51 | 4.284,1 |
| | | | | | | | | | | | | |
| unt: 1 | В | Jul 11, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0.00 | 4.0 | 0.470.00 |
| | | | | | | | | | | 0,82 | 10 | 8.170,09 |
| | | | | | | | | | | | | |
| ount: 1 | В | Jul 10, 2019 | В | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Other Position | Associated Company | | | |
| | | | | | | | | | | 0,80 | 15 | 12.382,88 |
| | | | | | | | | | | 0,00 | 13 | 12.302,00 |
| | | | | | | | | | | | | |
| ount: 3 | В | Jul 10, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,82 | 29 | 24.071,43 |
| | | | | | | | | | | | | 1,10 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| Count: 1 | В | Jul 10, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 84,00 | 3 | 252.00 |
|----------|---|--------------|---|------------|--------------------|--------------------------|---------------------|--------------------|--------------------|-------|---------|------------|
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 10, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,82 | 23 | 18.75 |
| Count: 2 | В | Jul 9, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 0,83 | 96 | 79.820,89 |
| Count: 1 | В | Jul 9, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | | | |
| | | | | | | | | | | 84,03 | 178 | 14.957,6 |
| | | 110.0040 | | 01 | | PAGE FIGURA ON OTAN TIMO | DANK EIGH DANK EIGG | 5 M . I | | | | |
| Count: 2 | В | Jul 9, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0,83 | 40 | 33.524,95 |
| | | | | | | | | | | 0,50 | 1.0 | 30.321,30 |
| Count: 1 | В | Jul 8, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 31,900 | 28,148.55 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 8, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 89.81 | 104 | 9,340.30 |
| | | | | | | | | | | | | |
| Count: 2 | В | Jul 5, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.89 | 238,233 | 211,534.77 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 5, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 90.19 | 213 | 19,211.30 |
| | | | | | | | | | ,,, | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 5, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.89 | 170,000 | 150,779.77 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 4, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.89 | 122,370 | 108,829.77 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 4, 2019 | s | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 90.51 | 697 | 63,084.00 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 3, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.88 | 18,600 | 16,438.70 |
| | | | | | | | | | | | | |
| Count: 1 | B | Jul 3, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 90.02 | 186 | 16,743.80 |
| Count. 1 | | 301 3, 2013 | | Delivative | DENIVATIVEO MAINET | BAGILLIOO KONOTANTINOO | BAGILLIOU BAGILLIOU | Executive Welliber | Associated Company | 30.02 | 100 | 10,745.00 |
| | | | | | | | | | | | | |
| Count: 2 | В | Jul 1, 2019 | В | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 100,095 | 86,645.80 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jul 1, 2019 | S | Derivative | DERIVATIVES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 87.51 | 364 | 31,855.20 |
| | | | | | | | | | | | | |
| Count: 2 | В | Jul 1, 2019 | S | Share | SECURITIES MARKET | BASILEIOU KONSTANTINOS | BASILEIOU BASILEIOS | Executive Member | Associated Company | 0.87 | 100,500 | 87,258.00 |
| | | | | 1 | | | | | | 1 | | |

| Count: 1 | В | Jun 28, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 84.38 | 830 | 70,035.90 |
|----------|---|---------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| | | | | | | | | | | | | |
| Count: 1 | В | Jun 28, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.84 | 11,668 | 9,754.45 |
| Count: 1 | В | Jun 27, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.83 | 152,478 | 126,003.53 |
| Count: 1 | | Jun 27, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 83.83 | 1,162 | 97,406.30 |
| Count. 1 | | Juli 27, 2019 | | Delivative | DENIVATIVES WARKET | AKOHON IDIO DIMOGTILINO | AROHOWIDISTOANNIS | Otheral Wallage | Associated company | 55.55 | 1,102 | 37,400.30 |
| Count: 1 | В | Jun 27, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.83 | 8,000 | 6,640.00 |
| Count: 1 | В | Jun 26, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.81 | 108,972 | 88,041.81 |
| Count: 1 | В | Jun 26, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 81.7 | 705 | 57,601.00 |
| Count: 1 | В | Jun 25, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.82 | 28,700 | 23,468.00 |
| Count: 1 | В | Jun 25, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 80.16 | 1,054 | 84,484.70 |
| Count: 1 | В | Jun 24, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.82 | 8,923 | 7,283.73 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jun 24, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 82.97 | 49 | 4,065.60 |
| Count: 1 | В | Jun 21, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 80.24 | 5,325 | 427,279.40 |
| Count: 2 | В | Jun 21, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.8 | 113,838 | 90,521.31 |
| Count: 1 | В | Jun 21, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 81.38 | 5,810 | 472,806.50 |
| Count: 2 | В | Jun 21, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.8 | 27,124 | 21,650.39 |
| Count: 1 | В | Jun 20, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 82.77 | 1,605 | 132,848.20 |
| | | | | | | | | | | | | |

| Count: 1 | В | Jun 20, 2019 | B Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.83 | 140,791 | 116,368.83 |
|----------|---|--------------|---------------|--------------------|--------------------------|---------------------|-------------------|--------------------|-------|---------|------------|
| Count: 1 | В | Jun 20, 2019 | S Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 83.9 | 1,605 | 134,660.20 |
| South. 1 | | 531.25, 2015 | Jonano Jonano | SELLATION STATES | ALCIONIBLE SINGENIENIO | , menermore remaine | Solida managor | radioaled Company | 33.0 | 1,000 | 104,000.20 |
| Count: 1 | B | Jun 20, 2019 | S Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.83 | 26,146 | 21,707.46 |
| Count. 1 | | 34120, 2013 | 5 Share | SESSITIES MAINE! | ANGIONTIBIO DIMOGNI LAIG | AKOHON IDIO IOANNIO | Certeral Warlayer | Associated Company | 0.00 | 20,140 | 21,707.40 |
| Count: 1 | В | Jun 19, 2019 | B Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 83.71 | 1,641 | 137,369.50 |
| Count: 1 | D | Jun 19, 2019 | B Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.84 | 18,101 | 15,135.12 |
| Count. 1 | Б | Jun 19, 2019 | B Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTRENIS | ARCHONTIDIS IOANNIS | General Wanager | Associated Company | 0.04 | 18,101 | 15,135.12 |
| Count: 1 | В | Jun 19, 2019 | S Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 84.71 | 1,641 | 139,010.50 |
| | | | | | | | | | | | |
| Count: 1 | В | Jun 19, 2019 | S Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.84 | 9,252 | 7,743.92 |
| Count: 1 | В | Jun 18, 2019 | B Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 83.17 | 2,091 | 173,898.50 |
| | | | | | | | | | | | |
| Count: 2 | В | Jun 18, 2019 | B Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.83 | 378,797 | 315,598.17 |
| | | | | | | | | | | | |
| Count: 1 | В | Jun 18, 2019 | S Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 83.94 | 2,373 | 199,180.50 |
| Count: 1 | В | Jun 14, 2019 | B Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 85.7 | 50 | 4,285.00 |
| Count: 1 | В | Jun 14, 2019 | B Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.85 | 36,200 | 30,833.97 |
| | | | | | | | | | | | |
| Count: 1 | В | Jun 14, 2019 | S Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 86.06 | 412 | 35,457.00 |
| Count: 1 | В | Jun 13, 2019 | B Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.87 | 128,144 | 110,919.83 |
| | | | | | | | | | | | |
| Count: 1 | В | Jun 13, 2019 | S Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.86 | 30,400 | 26,056.40 |
| Count: 1 | В | Jun 12, 2019 | B Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 85.86 | 286 | 24,555.00 |
| | | | | | | | | | | | |
| Count: 1 | В | Jun 12, 2019 | B Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.84 | 38,800 | 32,748.50 |

| | | | | | | | | | | | | 1 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 1 | В | Jun 12, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 84.91 | 110 | 9,340.30 |
| Count: 1 | В | Jun 12, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.85 | 56,400 | 48,100.10 |
| | | | | | | | | | , | | 33,133 | |
| Count: 1 | В | Jun 11, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 83.23 | 150 | 12,485.00 |
| Count: 1 | В | Jun 11, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.84 | 242,169 | 203,262.13 |
| | | | | | | | | | | | | |
| Count: 1 | В | Jun 11, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 85.12 | 842 | 71,671.60 |
| Count: 1 | В | Jun 11, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.85 | 500 | 425.00 |
| Count: 1 | В | Jun 10, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 82 | 3 | 246.00 |
| Count: 1 | В | Jun 10, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.84 | 327,140 | 275,017.75 |
| Count: 1 | В | Jun 10, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 85.28 | 465 | 39,655.80 |
| Count: 1 | B | Jun 10, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.86 | 296,000 | 254,277.65 |
| | | | | | | | | | ,, | | | |
| Count: 1 | В | Jun 7, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.81 | 37,889 | 30,583.07 |
| Count: 1 | В | Jun 7, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.81 | 16,829 | 13,639.90 |
| Count: 1 | В | Jun 6, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 80.9 | 135 | 10,921.10 |
| Count: 1 | В | Jun 6, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.8 | 64,960 | 52,062.15 |
| Count: 1 | В | Jun 6, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 80.63 | 54 | 4,354.20 |
| Count: 1 | В | Jun 6, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.81 | 75,000 | 60,624.00 |
| | | | | | | | | | | | | |

| Count: 2 | В | Jun 5, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.8 | 338,478 | 270,384.82 |
|---------------|---|--------------|---|------------|--------------------|----------------------------------|---------------------|--------------------|--------------------|-------|---------|------------|
| Count: 2 | В | Jun 5, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 2.24 | 67,324 | 151,045.10 |
| Count. 2 | В | 30113, 2019 | 3 | Denvalive | DERIVATIVES WARRET | ARCHONTIDIS DIMOSTITENIS | ARCHONTIDIS IOANNIS | Gerierai Mahayei | Associated Company | 2.24 | 07,324 | 131,045.10 |
| Count: 2 | В | Jun 5, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.8 | 43,520 | 34,797.66 |
| Count: 1 | В | Jun 4, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.8 | 291,130 | 234,282.93 |
| Count: 1 | В | Jun 4, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 80.82 | 1,900 | 153,559.80 |
| Count. 1 | В | Juli 4, 2019 | 3 | Delivative | DERIVATIVES MARKET | ARCHON I DIS DIMOSTITENIS | ARCHONTIDIS IOANNIS | Gerierai ivianagei | Associated Company | 80.82 | 1,500 | 133,339.60 |
| Count: 1 | В | Jun 4, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.82 | 8,000 | 6,530.25 |
| Count: 1 | В | Jun 3, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.88 | 66,100 | 57,837.50 |
| Count: 3 | В | Jun 3, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.85 | 158,672 | 135,441.80 |
| Count: 1 | В | Jun 3, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 85.67 | 475 | 40,693.10 |
| | | | | | | | | | | | | |
| Count: 2 | В | Jun 3, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.85 | 44,992 | 38,373.71 |
| Count: 1 | В | Jun 3, 2019 | S | Share | SECURITIES MARKET | KALANTONIS THEODOROS | KALANTONIS ANDREAS | Executive Member | Associated Company | 0.85 | 460,000 | 392,581.95 |
| Count: 1 | В | May 31, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 88.47 | 30 | 2,654.00 |
| Count: 2 | В | May 31, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.86 | 387,758 | 333,132.80 |
| Count: 1 | В | May 31, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 87.18 | 1,007 | 87,793.80 |
| Count: 2 | В | May 31, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.86 | 63,008 | 53,936.85 |
| and the first | | may 01, 2010 | | J. Tall C | SESSION ES MAINTE | JANOS POR SERVICE DINION IN LAND | ANGERTADIO IONINIO | Control Manager | - socource company | 0.00 | 55,000 | 33,930.63 |
| Count: 1 | В | May 31, 2019 | S | Share | SECURITIES MARKET | KALANTONIS THEODOROS | KALANTONIS ANDREAS | Executive Member | Associated Company | 0.85 | 900,000 | 768,425.29 |
| Count: 1 | В | May 30, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.84 | 156,068 | 130,412.96 |

| Count: 1 | В | May 30, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 83.61 | 1,054 | 88,127.50 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|------------------|--------------------|-------|------------|---------------|
| Count: 1 | В | May 29, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.82 | 44,800 | 36,805.90 |
| Count: 1 | В | May 29, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 82.54 | 448 | 36,976.60 |
| | | | | | | | | | | | | |
| Count: 1 | В | May 28, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 102,116 | 76,280.65 |
| Count: 2 | В | May 28, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.79 | 453,921 | 357,924.60 |
| Count: 2 | В | May 28, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 1.6 | 103,257 | 165,423.25 |
| Count: 1 | В | May 28, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.8 | 10,001 | 7,970.80 |
| Count: 1 | В | May 27, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 75.1 | 11 | 826.10 |
| Count: 1 | В | May 27, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 623,351 | 466,643.56 |
| Count: 1 | В | May 27, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 75.24 | 2,373 | 178,540.00 |
| Count: 2 | В | May 27, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 306,739 | 229,942.03 |
| Count: 1 | В | May 24, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 102,116 | 71,481.20 |
| Count: 2 | В | May 24, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 135,686 | 94,456.52 |
| Count: 2 | В | May 24, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.86 | 102,356 | 88,353.20 |
| Count: 1 | В | May 24, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 50,005 | 34,898.48 |
| Count: 3 | В | May 23, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 402,704 | 290,840.34 |
| Count: 3 | В | May 23, 2019 | В | Share | SECURITIES MARKET | KALANTONIS THEODOROS | KALANTONIS ANDREAS | Executive Member | Associated Company | 0.75 | 46,346,250 | 34,527,956.26 |
| Count: 2 | A | May 23, 2019 | В | Share | SECURITIES MARKET | MPERTSOS NIKOLAOS | MPERTSOS ANASTASIOS | Other Position | The Same | 0.75 | 682,590 | 508,529.56 |
| Count: 2 | В | May 23, 2019 | В | Share | SECURITIES MARKET | MPERTSOS NIKOLAOS | MPERTSOS ANASTASIOS | Other Position | Husb/Wife | 0.75 | 198,463 | 147,854.94 |

| Count: 1 | A | May 23, 2019 | В | Share | SECURITIES MARKET | CHRYSIKOS GEORGIOS | CHRYSIKOS KONSTANTINOS | Vice President | The Same | 0.74 | 7,110,000 | 5,296,950.00 |
|----------|---|--------------|---|------------|--------------------|-------------------------|------------------------|-----------------|--------------------|-------|-----------|--------------|
| Count: 1 | В | May 23, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.3 | 1,803 | 128,560.40 |
| Count: 2 | В | May 23, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 50,013 | 35,471.05 |
| Count: 1 | В | May 22, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 77.3 | 1,064 | 82,245.42 |
| Count: 2 | В | May 22, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 728,851 | 549,698.57 |
| Count: 1 | В | May 22, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 76.55 | 884 | 67,666.50 |
| Count: 3 | В | May 22, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.76 | 589,851 | 447,603.59 |
| Count: 1 | В | May 21, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 46,480 | 34,588.25 |
| Count: 1 | В | May 21, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 73.81 | 178 | 13,138.90 |
| Count: 1 | В | May 21, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 9,560 | 7,208.24 |
| Count: 1 | В | May 20, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.11 | 408 | 29,013 |
| Count: 1 | В | May 20, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 43,500 | 31,042.85 |
| | В | | В | | | | | | | | | |
| Count: 1 | В | May 20, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71 | 79 | 5,609 |
| Count: 1 | В | May 20, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 40,800 | 29,312.30 |
| Count: 1 | В | May 17, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.67 | 238 | 17,058.10 |
| Count: 1 | В | May 17, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 31,826 | 22,723.21 |
| | | | | | | | | | | | | |

| Count: 1 | В | May 17, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 70.78 | 226 | 15,996.40 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 1 | В | May 17, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 185,623 | 133,585.10 |
| Count: 1 | В | May 16, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.87 | 1,159 | 83,292.50 |
| Count: 1 | В | May 16, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 49,660 | 35,706.40 |
| Count: 1 | В | May 16, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.2 | 18 | 1,281.60 |
| Count: 1 | В | May 16, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 273,672 | 195,960.07 |
| Count: 1 | В | May 15, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.12 | 618 | 43,954.40 |
| Count: 1 | В | May 15, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 21,450 | 15,283.08 |
| Count: 1 | В | May 15, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.37 | 190 | 13,560.30 |
| Count: 1 | В | May 15, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 271,708 | 194,325.81 |
| Count: 1 | В | May 14, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.03 | 15 | 1,065.50 |
| Count: 2 | В | May 14, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 82,462 | 57,956.69 |
| Count: 1 | В | May 14, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 70.7 | 188 | 13,290.80 |
| Count: 2 | В | May 14, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 68,979 | 48,509.39 |
| Count: 1 | В | May 13, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 69.41 | 754 | 52,335 |
| Count: 1 | В | May 13, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.69 | 122,410 | 84,825.29 |

| Count: 1 | В | May 13, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 94,940 | 66,287.75 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 1 | В | May 10, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 70.73 | 6 | 424.4 |
| Count: 1 | В | May 10, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 150,639 | 107,342.91 |
| Count: 1 | В | May 10, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 112,574 | 80,219.81 |
| Count: 1 | В | May 9, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 68 | 169 | 11,491.70 |
| Count: 1 | В | May 9, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.69 | 8,900 | 6,144.15 |
| Count: 2 | В | May 9, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 70.79 | 366 | 25,908.40 |
| Count: 1 | В | May 9, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.69 | 16,900 | 11,577.75 |
| Count: 1 | В | May 7, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 74.55 | 611 | 45,547 |
| Count: 1 | В | May 7, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 61,100 | 45,929.46 |
| Count: 1 | В | May 6, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 5,729 | 4,202.22 |
| Count: 1 | В | May 6, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 10,100 | 7,513.50 |
| Count: 1 | В | May 3, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 75.63 | 206 | 15,580.40 |
| Count: 1 | В | May 3, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.76 | 2,864 | 2,170.91 |
| Count: 1 | В | May 3, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.76 | 20,600 | 15,661.95 |
| Count: 1 | В | May 2, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 74.92 | 1,379 | 103,314.20 |

| Count: 2 | В | May 2, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 13,717 | 10,287.31 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 2 | В | May 2, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 147,901 | 111,342.40 |
| Count: 1 | В | Apr 30, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 73.74 | 1,821 | 134,276.70 |
| Count: 1 | В | Apr 30, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 316,500 | 235,034.80 |
| Count: 1 | В | Apr 25, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 73.75 | 104 | 7,670 |
| Count: 1 | В | Apr 25, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 14,322 | 10,619.76 |
| Count: 1 | В | Apr 25, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 17,809 | 13,164.67 |
| Count: 1 | В | Apr 24, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 72.5 | 3,099 | 224,686.30 |
| Count: 2 | В | Apr 24, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 113,927 | 81,808.43 |
| Count: 1 | В | Apr 24, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 72.36 | 624 | 45,154.40 |
| Count: 2 | В | Apr 24, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 330,980 | 240,673.22 |
| Count: 1 | В | Apr 23, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 75.74 | 133 | 10,073.80 |
| Count: 1 | В | Apr 23, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 27,210 | 20,239.83 |
| Count: 1 | В | Apr 23, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.76 | 10,801 | 8,192.96 |
| Count: 1 | В | Apr 18, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 73.93 | 761 | 56,259.40 |
| Count: 2 | В | Apr 18, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 160,551 | 118,146.09 |

| Count: 1 | В | Apr 18, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 73.87 | 314 | 23,194.60 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 2 | В | Apr 18, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 96,883 | 70,768.96 |
| Count: 1 | В | Apr 17, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 74.19 | 806 | 59,800.80 |
| Count: 1 | В | Apr 17, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 46,529 | 34,471.64 |
| Count: 1 | В | Apr 17, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 74.35 | 218 | 16,209.30 |
| Count: 1 | В | Apr 17, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 85,333 | 63,408.22 |
| Count: 1 | В | Apr 16, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 73.34 | 587 | 43,048.70 |
| Count: 2 | В | Apr 16, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 464,026 | 339,490.58 |
| Count: 1 | В | Apr 16, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 74.17 | 853 | 63,269.90 |
| Count: 2 | В | Apr 16, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 240,451 | 176,006.15 |
| Count: 1 | В | Apr 15, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 73.61 | 132 | 9,716 |
| Count: 1 | В | Apr 12, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 2,864 | 2,004.80 |
| Count: 1 | В | Apr 11, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71 | 50 | 3,550 |
| Count: 2 | В | Apr 11, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 112,396 | 79,344.83 |
| Count: 1 | В | Apr 11, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 69.68 | 902 | 62,852.40 |
| Count: 2 | В | Apr 11, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 27,691 | 19,675.23 |

| Count: 2 | В | Apr 10, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 258,979 | 181,745.68 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 1 | В | Apr 10, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 70.6 | 1,354 | 95,594.70 |
| Count: 3 | В | Apr 10, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 14,536 | 10,258.60 |
| Count: 1 | В | Apr 9, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 69.5 | 49 | 3,405.50 |
| Count: 2 | В | Apr 9, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 146,793 | 102,374.43 |
| Count: 1 | В | Apr 9, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 69.99 | 1,106 | 77,412.10 |
| Count: 1 | В | Apr 9, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 9,900 | 6,885.40 |
| Count: 1 | В | Apr 8, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 69.4 | 72 | 4,996.80 |
| Count: 1 | В | Apr 8, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 142,221 | 101,013.08 |
| Count: 1 | В | Apr 8, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 71.25 | 1,565 | 111,500.30 |
| Count: 1 | В | Apr 8, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.7 | 10,360 | 7,234.66 |
| Count: 1 | В | Apr 5, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 72.54 | 1,140 | 82,701 |
| Count: 1 | В | Apr 5, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 262,995 | 191,239.61 |
| Count: 1 | В | Apr 5, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 72.63 | 1,781 | 129,357.20 |
| Count: 1 | В | Apr 5, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 1,000 | 734.5 |
| Count: 2 | В | Apr 4, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 42.1 | 548 | 23,070.01 |

| Count: 1 | В | Apr 4, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 2,500 | 1,831.25 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 1 | В | Apr 4, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.72 | 3,160 | 2,282.31 |
| Count: 1 | В | Apr 3, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 72.87 | 112 | 8,161.40 |
| Count: 1 | В | Apr 3, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 5,859 | 4,328.74 |
| Count: 1 | В | Apr 3, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 12,980 | 9,660.50 |
| Count: 2 | В | Apr 2, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 67.2 | 129 | 8,669.02 |
| Count: 2 | В | Apr 2, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 35,780 | 26,056.39 |
| Count: 2 | В | Apr 2, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.73 | 18,281 | 13,385.11 |
| Count: 1 | В | Apr 1, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 72.48 | 1,601 | 116,040.50 |
| Count: 2 | В | Apr 1, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.75 | 56,462 | 42,083.19 |
| Count: 2 | В | Apr 1, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.74 | 139,944 | 103,138.22 |
| Count: 2 | В | Mar 29, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 66.88 | 1,434 | 95,910.16 |
| Count: 1 | В | Mar 29, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.69 | 65,880 | 45,458.60 |
| Count: 1 | В | Mar 29, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.71 | 80,200 | 56,563.55 |
| Count: 2 | В | Mar 28, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 46.6 | 786 | 36,628.56 |
| Count: 2 | В | Mar 28, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.69 | 52,921 | 36,254.08 |

| Count: 2 | В | Mar 28, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.68 | 95,807 | 65,321.72 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|--------|-----------|
| Count: 1 | В | Mar 27, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 66.09 | 341 | 22,536.60 |
| Count: 2 | В | Mar 27, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.67 | 18,594 | 12,443.64 |
| Count: 2 | В | Mar 27, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.67 | 61,421 | 41,078.98 |
| Count: 4 | В | Mar 26, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 18.22 | 3,220 | 58,665.62 |
| Count: 3 | В | Mar 26, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.64 | 13,437 | 8,662.83 |
| Count: 4 | В | Mar 26, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.66 | 97800 | 64,249.70 |
| Count: 1 | В | Mar 22, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 65,47 | 3 | 196,4 |
| Count: 1 | В | Mar 22, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,67 | 5 | 3.352,5 |
| Count: 2 | В | Mar 22, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 22.58 | 14.839,72 |
| Count: 2 | В | Mar 21, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,80 | 463 | 370,90 |
| Count: 2 | В | Mar 21, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,67 | 38.93 | 26.131,81 |
| Count: 2 | В | Mar 21, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,67 | 38.366 | 25.589,90 |
| Count: 2 | В | Mar 20, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,80 | 5.679 | 4.534,40 |
| Count: 2 | В | Mar 20, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,65 | 4.299 | 2.801,03 |
| Count: 2 | В | Mar 20, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 90.944 | 59.697,06 |

| Count: 2 | B | Mar 19, 2019 | B | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 16.894 | 11.166,38 |
|----------|---|--------------|---|------------|----------------------|---------------------------|------------------------|-----------------|---|--------|--------|-----------|
| | | | | | | | | | , | 3,55 | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 19, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 65,75 | 462 | 30.376,9 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 19, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,65 | 27.901 | 18.218,62 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 18, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 4,78 | 256 | 1.223,40 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 18, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,67 | 30.656 | 20.634,15 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 18, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 66,70 | 110 | 7.34 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 18, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,67 | 9.5 | 6.370,8 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 15, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 421,84 | 7.21 | 3.041.499 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 3 | В | Mar 15, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 61.866 | 40.769,74 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 15, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 65,21 | 2.21 | 144.13 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 14, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 7,25 | 3.768 | 27.327,68 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 14, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 60.832 | 40.160,19 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 14, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 65,27 | 388 | 25.326,5 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 0 11 | | | | 0. | OF OUDITIES MADVET | ARCHONTIDIS DIMOSTHENIS | ADOLIONITIDIO IOANINIO | | | | 40.000 | 6.611,98 |
| Count: 1 | В | Mar 14, 2019 | 5 | Share | SECURITIES MARKET | ARCHON TIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 10.003 | 6.611,98 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 13, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 64,34 | 835 | 53.726,5 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Country | | May 40, 0010 | | Desiret: | DEDIVATIVES *** SVET | ADOLIONTIDIO DI ACCTUENTO | ARCHONTIDIS IOANNIS | 10 | Accordated C | | -00- | m |
| Count: 1 | В | Mar 13, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHON I IDIS IOANNIS | General Manager | Associated Company | 63,93 | 835 | 53.38 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| Count: 2 | В | Mar 12, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 16,87 | 6.653 | 112.245,28 |
|----------|---|---------------|---|------------|--------------------|--------------------------|----------------------|------------------|--------------------|-------|---------|------------|
| Count: 1 | В | Mar 12, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,64 | 8 | 5.08 |
| Count: 1 | | Well 12, 2013 | | Gitaro | SECONTIES WANTED | ANOTON TIPLE BINGOTT ENG | ANOTONTIBIOTONNIO | General Wallager | Associated Company | 0,04 | · · | 3.55 |
| Count: 1 | В | Mar 12, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 62,55 | 1.619 | 101.266,3 |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 12, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,64 | 36.198 | 22.985,73 |
| | | | | | | | | | | | | |
| Count: 1 | В | Mar 8, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 60,00 | 50 | 3.00 |
| Count: 2 | В | Mar 8, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,61 | 186.281 | 113.369,35 |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 8, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,61 | 108.798 | 66.184,06 |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 7, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 96.473 | 63.450,91 |
| Count: 1 | B | Mar 7, 2019 | s | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,66 | 96.449 | 63.654,62 |
| Count. 1 | | Wai 7, 2015 | | Gitaro | SECONTIES WANTED | ANOTON TIPLE BINGOTT ENG | ANOTONTIBIOTONNIO | General Wallager | Associated company | 0,00 | 30.443 | 03.004,02 |
| Count: 1 | В | Mar 6, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,62 | 12.634 | 7.896,25 |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 6, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,63 | 121.092 | 76.834,21 |
| Count: 1 | | Mar 6, 2019 | s | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 63,60 | 34 | 2.162,4 |
| Count. 1 | В | Wal 6, 2019 | | Denvauve | DERIVATIVES WARRET | ARCHONTIDIS DINIOSTRENIS | ARCHON HIJIS TOANNIS | Gereral Manager | Associated Company | 63,60 | 34 | 2.102,4 |
| Count: 2 | В | Mar 6, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0,64 | 119.272 | 75.899,11 |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 4, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 42.91 | 90 | 3,862.01 |
| | | | | | | | | | | | | |
| Count: 2 | В | Mar 4, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.66 | 52.516 | 34,541.41 |
| Count: 1 | В | Mar 4, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 65.03 | 60 | 3.902 |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| Count: 2 | В | Mar 4, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.67 | 39.197 | 26,163.82 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 2 | В | Mar 1, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 55.70 | 563 | 31,357.42 |
| Count: 3 | В | Mar 1, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.68 | 201.795 | 136,776.63 |
| Count: 3 | В | Mar 1, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.68 | 185.948 | 126,400.71 |
| Count: 2 | В | Feb 28, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 27.90 | 488 | 13,614.83 |
| Count: 2 | В | Feb 28, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.63 | 66.325 | 41,718.10 |
| Count: 1 | В | Feb 28, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 63.00 | 50 | 3.15 |
| Count: 2 | В | Feb 28, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.65 | 88.305 | 57,035.52 |
| Count: 3 | В | Feb 27, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 1.56 | 1.984 | 3,086.36 |
| Count: 2 | В | Feb 27, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.61 | 109.355 | 66,466.74 |
| Count: 1 | В | Feb 27, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.62 | 1.5 | 930 |
| Count: 3 | В | Feb 27, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 67.208 | 38,052.24 |
| Count: 2 | В | Feb 26, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 16.91 | 3.727 | 63,033.02 |
| Count: 1 | В | Feb 26, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.60 | 50.004 | 30,016.48 |
| Count: 1 | В | Feb 26, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 59.20 | 200 | 11.84 |
| Count: 2 | В | Feb 26, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.60 | 148.805 | 89,728.16 |

| Count: 3 | В | Feb 25, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.78 | 15.007 | 11,648.85 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|-----------|--------------|
| Count: 3 | В | Feb 25, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.58 | 68.224 | 39,304.42 |
| Count: 2 | В | Feb 25, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.93 | 1.51 | 1,404.50 |
| Count: 2 | В | Feb 25, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.58 | 65.706 | 38,155.77 |
| Count: 1 | В | Feb 22, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 54.91 | 88 | 4,832.2 |
| Count: 3 | В | Feb 22, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 156.195 | 86,153.75 |
| Count: 2 | В | Feb 22, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 22.352 | 12,668.28 |
| Count: 1 | В | Feb 21, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 813 | 448.37 |
| Count: 1 | В | Feb 21, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.56 | 17 | 9.54 |
| Count: 3 | В | Feb 21, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.56 | 379.582 | 212,726.04 |
| Count: 1 | В | Feb 20, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 54.90 | 45 | 2,470.7 |
| Count: 1 | В | Feb 20, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 700 | 385.7 |
| Count: 1 | В | Feb 20, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 54.91 | 51 | 2,800.2 |
| Count: 1 | В | Feb 20, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 1.68 | 931.26 |
| Count: 2 | В | Feb 19, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 6.92 | 1.323 | 9,151.97 |
| Count: 2 | В | Feb 19, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 1,772,890 | 1,009,630.00 |

| Count: 3 | В | Feb 19, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 1,429,138 | 812,887.54 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|-----------|------------|
| Count: 2 | В | Feb 18, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 16.66 | 8.775 | 146,208.75 |
| Count: 1 | В | Feb 18, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.56 | 12.857 | 7,158.34 |
| Count: 1 | В | Feb 18, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 56.20 | 2.5 | 140.5 |
| Count: 1 | В | Feb 18, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.56 | 135.197 | 75,537.04 |
| Count: 1 | В | Feb 15, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 5.714 | 3,085.56 |
| Count: 1 | В | Feb 15, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 1.58 | 852.41 |
| Count: 1 | В | Feb 14, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 4.487 | 2,434.93 |
| Count: 1 | В | Feb 13, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 2.726 | 1,487.03 |
| Count: 1 | В | Feb 13, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 4 | 2.18 |
| Count: 1 | В | Feb 13, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 54.60 | 40 | 2.184 |
| Count: 1 | В | Feb 13, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 114.799 | 62,480.28 |
| Count: 1 | В | Feb 12, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 264 | 144.14 |
| Count: 1 | В | Feb 12, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 54.70 | 2 | 109.4 |
| Count: 1 | В | Feb 12, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 15.88 | 8,806.21 |
| Count: 1 | В | Feb 11, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 54.71 | 152 | 8,315.8 |
| | | | | | | | | | | | | |

| Count: 1 | В | Feb 11, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 2.857 | 1,547.07 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|--------|------------|
| Count: 1 | В | Feb 11, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 51.438 | 28,428.39 |
| Count: 1 | В | Feb 8, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 53.79 | 308 | 16,568.2 |
| Count: 2 | В | Feb 8, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 6.865 | 3,630.25 |
| Count: 2 | В | Feb 8, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 54.159 | 29,227.99 |
| Count: 1 | В | Feb 7, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 6.572 | 3,508.63 |
| Count: 1 | В | Feb 6, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 55.95 | 110 | 6.154 |
| Count: 2 | В | Feb 6, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 10.107 | 5,595.09 |
| Count: 2 | В | Feb 6, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.56 | 60.588 | 33,716.30 |
| Count: 1 | В | Feb 5, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 4.035 | 2,281.79 |
| Count: 2 | В | Feb 5, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 52.841 | 29,968.19 |
| Count: 1 | В | Feb 4, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 56.47 | 113 | 6,380.8 |
| Count: 1 | В | Feb 4, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 30.003 | 17,120.33 |
| Count: 2 | В | Feb 4, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.57 | 291.2 | 165,958.29 |
| Count: 1 | В | Feb 1, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 80.019 | 44,053.78 |
| Count: 2 | В | Feb 1, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.55 | 87.319 | 48,186.60 |

| Count: 1 | В | Jan 31, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 32.28 | 993 | 32,049.3 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|--------|---------|------------|
| Count: 2 | В | Jan 31, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 21.763 | 11,500.73 |
| Count: 3 | В | Jan 31, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 211.87 | 114,568.94 |
| Count: 1 | В | Jan 30, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 53.05 | 389 | 20,636.7 |
| Count: 2 | В | Jan 30, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 88.709 | 47,004.69 |
| Count: 1 | В | Jan 30, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 372.00 | 5 | 1.86 |
| Count: 2 | В | Jan 30, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 237.377 | 125,623.77 |
| Count: 1 | В | Jan 29, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 51.47 | 157 | 8,081.3 |
| Count: 2 | В | Jan 29, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 29.618 | 15,168.43 |
| Count: 2 | В | Jan 29, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.52 | 543.535 | 280,724.29 |
| Count: 2 | В | Jan 28, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.52 | 2.854 | 1,489.77 |
| Count: 2 | В | Jan 28, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 28.866 | 14,680.10 |
| Count: 1 | В | Jan 25, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 50.02 | 222 | 11,103.4 |
| Count: 2 | В | Jan 25, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.50 | 193.388 | 96,440.80 |
| Count: 1 | В | Jan 25, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 51.19 | 218 | 11,158.6 |
| Count: 2 | В | Jan 25, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.50 | 84.846 | 42,550.77 |

| Count: 1 | В | Jan 24, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 49.29 | 134 | 6,605.5 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 2 | В | Jan 24, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 121.514 | 59,979.96 |
| Count: 1 | В | Jan 24, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 48.80 | 23 | 1,122.4 |
| Count: 2 | В | Jan 24, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 78.188 | 38,538.87 |
| Count: 1 | В | Jan 23, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 49.60 | 50 | 2.48 |
| Count: 2 | В | Jan 23, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 64.462 | 31,872.51 |
| Count: 1 | В | Jan 23, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 49.30 | 12 | 591.6 |
| Count: 2 | В | Jan 23, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 70.54 | 34,910.21 |
| Count: 1 | В | Jan 22, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 49.27 | 274 | 13,500.9 |
| Count: 1 | В | Jan 22, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 21.406 | 10,481.73 |
| Count: 1 | В | Jan 22, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 48.81 | 161 | 7,858.3 |
| Count: 1 | В | Jan 22, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 85.11 | 41,825.6 |
| Count: 1 | В | Jan 21, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 49.84 | 60 | 2,990.5 |
| Count: 2 | В | Jan 21, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.48 | 261.464 | 125,858.38 |
| Count: 1 | В | Jan 21, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 47.95 | 71 | 3,404.1 |
| Count: 2 | В | Jan 21, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.48 | 105.409 | 50,967.53 |

| Count: 1 | В | Jan 18, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 48.23 | 184 | 8,873.5 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 2 | В | Jan 18, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 296.472 | 143,917.70 |
| Count: 1 | В | Jan 18, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 48.22 | 592 | 28,547.3 |
| Count: 2 | В | Jan 18, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.49 | 193.802 | 94,681.63 |
| Count: 1 | В | Jan 17, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 49.60 | 74 | 3,670.4 |
| Count: 2 | В | Jan 17, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.50 | 21.628 | 10,888.40 |
| Count: 1 | В | Jan 17, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 49.70 | 25 | 1,242.5 |
| Count: 2 | В | Jan 17, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.50 | 21.899 | 10,864.73 |
| Count: 1 | В | Jan 16, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 50.50 | 30 | 1.515 |
| Count: 2 | В | Jan 16, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 91.249 | 46,349.90 |
| Count: 1 | В | Jan 16, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 50.50 | 240 | 12.12 |
| Count: 2 | В | Jan 16, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 45.157 | 23,169.40 |
| Count: 1 | В | Jan 15, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 52.20 | 33 | 1,722.6 |
| Count: 2 | В | Jan 15, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.52 | 17.594 | 9,093.26 |
| Count: 1 | В | Jan 15, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 50.30 | 50 | 2.515 |
| Count: 2 | В | Jan 15, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 16.155 | 8,294.39 |

| Count: 1 | В | Jan 14, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 52.00 | 2 | 104 |
|----------|---|--------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|-----------|
| Count: 1 | В | Jan 14, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.52 | 182.899 | 94,974.77 |
| Count: 1 | В | Jan 14, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 52.00 | 35 | 1.82 |
| Count: 1 | В | Jan 14, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.52 | 18.616 | 9,677.97 |
| Count: 1 | В | Jan 11, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 52.92 | 839 | 44,401.5 |
| Count: 1 | В | Jan 11, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 9.48 | 5,018.08 |
| Count: 1 | В | Jan 11, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 144.812 | 76,948.38 |
| Count: 1 | В | Jan 10, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 53.94 | 208 | 11,220.4 |
| Count: 2 | В | Jan 10, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 25.8 | 13,997.00 |
| Count: 3 | В | Jan 10, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 177.054 | 95,640.38 |
| Count: 1 | В | Jan 9, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 54.46 | 424 | 23,089.5 |
| Count: 2 | В | Jan 9, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 38.117 | 20,550.52 |
| Count: 2 | В | Jan 9, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.54 | 99.239 | 53,796.50 |
| Count: 1 | В | Jan 8, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 52.95 | 2 | 105.9 |
| Count: 1 | В | Jan 8, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.52 | 112.189 | 58,152.51 |
| Count: 1 | В | Jan 8, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.53 | 11.579 | 6,151.86 |

| Count: 1 | В | Jan 7, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 52.20 | 12 | 626.4 |
|----------|---|-------------|---|------------|--------------------|-------------------------|---------------------|-----------------|--------------------|-------|---------|------------|
| Count: 1 | В | Jan 7, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.52 | 10 | 5.16 |
| Count: 1 | В | Jan 7, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 51.60 | 100 | 5,160.1 |
| Count: 1 | В | Jan 7, 2019 | s | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 5.86 | 3,015.7 |
| Count: 1 | В | Jan 4, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 51.21 | 458 | 23,452.2 |
| Count: 1 | В | Jan 4, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 225.938 | 114,192.88 |
| Count: 1 | В | Jan 4, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 33.776 | 17,312.34 |
| Count: 1 | В | Jan 3, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 50.98 | 66 | 3,364.5 |
| Count: 1 | В | Jan 3, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 56.8 | 28,955.41 |
| Count: 1 | В | Jan 3, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 50.96 | 28 | 1,426.8 |
| Count: 1 | В | Jan 3, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 38.496 | 19,791.36 |
| Count: 1 | В | Jan 2, 2019 | В | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 51.37 | 120 | 6.164 |
| Count: 2 | В | Jan 2, 2019 | В | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 43.371 | 21,993.36 |
| Count: 1 | В | Jan 2, 2019 | S | Derivative | DERIVATIVES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 50.79 | 237 | 12,037.7 |
| Count: 2 | В | Jan 2, 2019 | S | Share | SECURITIES MARKET | ARCHONTIDIS DIMOSTHENIS | ARCHONTIDIS IOANNIS | General Manager | Associated Company | 0.51 | 26.48 | 13,610.96 |

Reason for submitting

A. PERSON HOLDING SENIOR MANAGERIAL POSITION (POST)

B. PERSON CLOSELY AFFILIATED TO A PERSON HOLDING SENIOR MANAGERIAL POSITION

B/S (Transaction Type)

- B. Purchase/Acquisition
- S. Sale/Sell, Disposal

Rem. (Remarks)

- 1. Acquisition, disposal, short sale, subscription or exchange
- 2. Acceptance or exercise of a stock option, including of a stock option granted to managers or employees, and the disposal of shares stemming from the exercise of a stock option
- 3. Entering into or exercise of equity swaps
- 4. Transactions in or related to derivatives, including cash-settled transaction.
- 5. Entering into a contract for difference on a financial instruments of the concerned issuer or on emission allowances or auction products based thereon.
- 6. Acquisition, disposal or exercise of rights, including put and call options and warrants
- 7. Subscription to a capital increase or debt instrument issuance.
- 8. Transactions in derivatives and financial instruments linked to a debt instrument of the concerned issuer, including credit default swaps.
- 9. Conditional transactions upon the occurrence of the conditions and actual execution of the transactions.
- 10. Automatic or non-automatic conversion of a financial instrument into another financial instrument, including the exchange of convertible bonds to shares.
- 11. Gifts and donations made or received, and inheritance received.
- 12. Transactions executed in index-related products, baskets and derivatives, insofar as required by Article 19 of Regulation (EU) No 596/2014.
- 13. Transactions executed in shares or units of investment funds, including (AIFs) referred to in Article 1 of Directive 2011/61/EU and of the Council (1), insofar as required by Article 19 of Regulation (EU) No 596/2014.
- 14. Transactions executed by manager of an AIF in which the person discharging managerial responsibilities or a person closely associated with such a person has invested, insofar as required by Article 19 of Regulation (EU) No 596/2014.
- 15. Transactions executed by a third party under an individual portfolio or asset management mandate on behalf or for the benefit of a person discharging managerial responsibilities or a person dosely associated with such a person.
- 16. Borrowing or lending of shares or debt instruments of the issuer or derivatives or other financial instruments linked thereto.
- 17. Pledging or lending of financial instruments.
- 18. Transactions made under a life insurance policy.